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[>
a = 90;
b =0
.c = 7;
2d = 1
e = "4"
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Q2. C}Z HEf x_vol| Cisi M, 27| S Er52| 222

X v <- c(2,4,6,8,10)

<Zd1p>
## [1] 6 4
<H7|>
(a) x v[c(2,3)]
(b) x v[,c(3:2)]
(c) x v[,c(-1,-4,-5)
(d) x v[2:3]
(e) x v[3:2]

Q3. £h2 Ho|E =2 Y dfol| EHsH A, 27| & th22l 20E A

df

<Z1

##
##

<=7

<- data.frame ("vl" =
nyon =
"y =

>

[1] apple

Levels: apple banana

[>

df$vi[2]
dfs$v2[2]
df[1,2]
df[2,1]
df[,2]

c(l:2),

c("apple", "banana"),

c("181420",

"181520"))



Q4. Ct2 2| AE x_Istof| CHsHA, 7| = x_Ist$carde| 2ot} EUst F==? HHe

x _lst <- list(name = "gildong",
first name = "hong",
height = 179,
card = 1:3)
<H7|>

(a) x_1st[[3]]
(b) x 1st[3]
(c) x 1st[4][1]
(d) x_lst["card"]
( [

e) x lst[["card"]]

Q5. CH2 Hi|o|E{ =Y df20f| CHH A, 27| & of2fiet 242 AnE dg = Y= F==? 3
df2 <- data.frame("id" = 1:5,
"grade" = c("A+","B","C", "B+","A"),
"pE" = c("p","p", "£", "p", "p"))

<Zd1p>

## id grade pf

## 3 3 c f
<H7|>
(a) df2[grade == "C", ]
(b) df2[which (df2$pf != "f"), ]
(c) df2[which (df2$pf == "p"), c(1:3)]
(d) df2[df2$grade = Tg¥, |
(e) df2[df2$id == -"3", ]
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